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a. Mention few preferreq-gbffii"s of gaseous dielectGio"for high voltage applications. Give

any three example of gffius dielectric. .* I (06 Marks)
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and thffi4l%reakdown in solid dielectrics.
* &m" q- (lo Marks)
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b. Explain the
gap considerin
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(06 Marks)
(06 Marks)

Marx circuit for gene;ation of high impulse voltages. (08 Marks)
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Discuss *re fadto.-fu influencing the spark over voltages of sphere gaps. (08 Marks)

Explain measurement of high impulse currents using Rogowski coil, with aneat figure.
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With typical wave shaPes,

What is meantby insulation Urcn, uik* :* \vi rrr4rA',

frotective devices conrfEffid in shunt for protection ofDiscuss the ideal
(04 Marks)

Module-4 ffi.*-_ s;-
:ages in ele$ffifibweDiscuss the chief causes of overvoltages in eleffiffiwer systems.

Explain charge formation in clouds using SilnoWtFs cloud model' 
.u=k*&s. \
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how the capacitance and tan 5, can
(08 Marks)

can be measured using balanced
(08 Marks)

(08 Marks)
. (08 Marks)

electrical apparatus.

be measured.
What is
detection

With the help of a-i$$i$urn of a Schering bridge, &plain
h. rr,"o*rrrerll ,*wm* # .*--k"

partial discharge?
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